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The two input/output pairs at the top of the page should look like this:

page 114

In[10]: The last two characters should be transposed, so they appear }] instead of ]}. 
The correct input is:

Print@PlotSin[x]5 - Cosx5, {x, -3, 3}

(Thanks to Walter Markowitch for spotting this.)

page 189

There are three typos on this page. First, at the top of the page on the second line of text, the second 
function should be y = x - 2 (not y = x - 1). Second, in this same sentence, the third function should be 
y = -x2 + 1 (not y = x2 + 1). Lastly, Input 11 has an error, which makes the output incorrect as well:

In[11]: There should be a minus sign in the inequality y < x2 + 1, so it reads y < -x2 + 1.
The correct input (and corresponding output) is:

Reducey > -2 x - 1, y > x - 2, y < -x2 + 1, {x, y}

1 - 3 < x ≤
1

3
&& -1 - 2 x < y < 1 - x2 ||

1

3
< x <

1

2
-1 + 13  && -2 + x < y < 1 - x2

(Thanks to Isi Dunietz for spotting these.)


